





14. (a)_
(b)
15. (a)
(b)

If 5 students utilize 18 pencils in 9 days. how
long, at the same rate, will 66 pencils last for

15 students?

Or

A canteen requires 651 bananas for a week. |

Totally how many bananas will it requires
for the months of April, May and June?

Pipe A can fill a tank in 30 hours and Pipe B
in 45 hours. If both the pipes are opened in
an empty tank, how much time will they
take to fill it? ;

Or

A pipe can fill a tank in x hours and another
pipe can empty it in y(y >x) hours. If both

the pipes are open, in how many hours will
the tank be filled?

PART C — (5 x 8 = 40 marks)

Answer ALL questidns by choosing (a) or (b).

16. (a)

Elango invested % of his capital at 7% ; i at

8% and the remainder at 10%. If his annual

income is ¥ 1021, find the capital.

Or
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18.

(b)

(a)

(b)

(a)

(b)

Siddarth invested money in two schemes A
and B offering compound interest at 8 p.c.p.a
and 9 p.c.p.a respectively. If the total
amount of interest accrued through two
schemes together in two years was ¥
4,818.30 and the total amount invested was
z 27,000, what was the amount invested in
scheme A?

2 men, 3 boys can do a piece of work in
10 days while 3 men, 2 boys can do the same
work in 8 days. In how many days can 3 men
and 3 boys do the work.

Or

3 men and 4 women can earn ¥ 3,780 in -

7 days. 11 men and 3 women can earn
€ 15,040 in 8 days. In what time will 6 men
and 10 women earn 12,0007

Shankar takes 6 hour 30 min in going by a
eycle and coming back by scooter. He would
lost 2 hour 10 min by going on cycle both
ways. How long would it take him to go by
scooter both ways?

Or

A train M leaves station X at 5 a.m and
reaches station Y at 9 a.m. Another train N
leaves station Y at 7 a.m and reaches station
X at 10.30 a.m. At what time do the trains
cross each other?
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